
UNIFIED INTERNATIONAL ENGLISH OLYMPIAD - 5P104  (UPDATED)

website : www.unifiedcouncil.com

01 C 02 D 03 A 04 C 05 D 06 C 07 B 08 C 09 B 10 A

11 C 12 B 13 C 14 D 15 C 16 D 17 B 18 C 19 D 20 C

21 D 22 B 23 D 24 B 25 C 26 D 27 B 28 C 29 D 30 C

31 D 32 B 33 C 34 B 35 C 36 D 37 C 38 B 39 C 40 D

41 B 42 D 43 C 44 D 45 B 46 C 47 D 48 C 49 B 50 C

KEY FOR CLASS : 06

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions
01 Option (C) is the correct answer. The correct spelling is : ‘Argument’.
03 Option (A) is the correct answer. Its homophone is : ‘Bowled’.
04 Option (C) is the correct answer. The syllables are : ‘E-lec-tion’.
05 Option (D) is the correct answer. The seven 4-lettered words are : Abet, able, bale, beat, late, tale and teal.
12 Option (B) is the correct answer. The two adjectives are : ‘overcrowded and fast (the 2nd one)’. The first ‘fast’

is an adverb.
19 Option (D) is the correct answer. The words ‘how long’ refer to a length of time passed till the moment of

asking that question. So we need to use the present perfect continuous tense. Moreover, the verb must
appear before the subject, there being a question mark at the end.

20 Option (C) is the correct answer. The phrasal verb ‘get over something’ means ‘to deal with or gain control
of something’.

21 Option (D) is the correct answer. The phrase ‘along with’ doesn’t function as a conjunction. Hence, the subject
remains to be a singular, ‘Rana’.

22 Option (B) is the correct answer. ‘with’, is the preposition that can fill the blank correctly to be the correct
answer. To differ means ‘to be different from each other as individuals or as a group’. Here ‘differ’ is to
‘disagree’ or ‘to be different in opinion’, so, with is correct.

25 Option (C) is the correct answer. It is a second conditional (If+past simple (had), would +infinitive (come)],
with positions of the clauses interchanged.

29 Option (D) is the correct answer. Only that is not a verb. All others are verbs too.
33 Option (C) is the correct answer. The first pair contains opposites, hence ‘aggravate’.
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